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x = fzero(function, x0)
, o
Solution The function to A value of x close to where
be solved. the function crosses the axis.
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sl ALY o LS
»>> xl=fzero('x*exp(-x)-0.2',0.7) 'I'he function 15 entered as a
i string expression.
0.2592 | The first solution is 0.2592. ]
»>> F=@(x)x*exp(-x)-0.2 : :
i | Creating an anonymous function. |

@(x)x*exp(-x)-0.2

>> fzero(F,2.8) | Using the name of the anonymous function in fzero.
ans =

2.5426 The second solution 1s 2.5426.
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[x fval]=fzero(function, x0)
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x=fzero(function, x0, optimset(‘display’,‘iter’))
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x = fminbnd (function, x1, x2) l
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The value of x where the The function. The interval of x.
function has a minimum.
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[x fval]=fminbnd(function,x1,x2)
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>> [x fval]=fminbnd('x"*3-12*x~2+40.25*x-36.5"',3,8)

X = I .
5.6073 The local minimum is at x = 5.6073. The
Foalls value of the function at this point is —11.8043.
-11.8043
)
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>> [x £val]=fminbnd ('x*3-12%x2+40.25*x-36.5',0,8)

0 The minimum is at x = 0. The valch

fval = , _ V.
-36.5000 of the function at this point is —36.5.
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>> [x fval]=fminbnd('-x*exp(-x)+0.2',0,8)

1.0000
fval =
-001679

The maximum is at x = 1.0. The value of
the function at this point is 0.1679.
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